Who gives a damn about minimizersin questions?
Problem: Negative Polarity Items (NPIs) can appea in questions. A subset of NPIs, the minimi-
zaslikelift afinger, givea damn, as much as a red cent, force questions in which they appea to
be interpreted with rhetoricd force, (1) and (2). Thistalk is about the two questions (i) why mini-
mizers are possble in questions and (ii) why they give rise obligatorily to rhetorica realings.
Q) Does Peter give adamn about the environment?
(20  Who gives adamn about the environment?
Background Minimizers are semanticdly equivalent to expressions which denote the lower end-
point of ascde and contain even (Heim, 1984). This assumption is supported by the similar dis-
tribution of minimizers and of scdar endpoints + even. In particular, scadar endpoints + even give
rise obligatorily to rhetoricd realings in questions as well (Guerzoni, 2002, (3) and (4).
3 Did you hea even the dlightest noise?
4) Which of these people has head even the dlightest noise?

Even will be treated uniformly (contra Rooth, 1985 as a truth-functionally inert, focus-sensi-
tive dement with two presuppositions ((5) from Wilkinson, 1996. Even contributes a scdar pre-
supposition (5i): The asserted proposition must be the least likely of a set of contextually pro-
vided alternatives. Even also contributes an existential presupposition (5ii): At least one of those
aternatives must adually be true.

(5)  [even] = Ap<sp AWcss:
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The variable C will play the key role later on. C is a set of propositions, is an implicit con-
textual variable. C being implicit, a coperative heaer must assgn C a value which will make a
given utterance informative, relevant, etc. The value of C is usualy assumed to be asubset of the
focus smantic value of the LF-sister of even, (6). The LF-sister of even must be propositional.
(6) Let a be the sister of even at LF, [a]' be the focus mantic value of a, and C the

contextual restriction on even, then CO[a]".

As down in Krifka (1995 and Lahiri (1998, Ladusaw’s (1980 generdlizaion that NPIs
require downward entaili ng contexts follows from the @ove assumptions. However, this ill
fails to explain why minimizers can appea in questions (as Lahiri, 1998 Wilkinson, 1996
adknowledge) or why they give rise to the rhetoricd effed.

Sdution: At LF even must take dausal scope (its gster must be of type <s, t>) below the interro-
gative operator (since questions are of type <<s, t>, t> (Hamblin, 1973), see(7).
(7 LF for (1): [Q [evenc [Peter cares to the [minimal]r degree dout the environment]]]

| now propose to alow one alditional element to be dlowed to enter into the cnstruction of
C: the negation of the disiunction of all the dternativesin [a]" as gated in (8) (cf. Karttunen,
1977 181t. 11 for asimilar move regarding questions). Informally then, (8) meansthat in (1) the
proposition that Peter doesn’t care abou the environment may enter into the anstruction of C.
(8) Let a be the sister of even at LF, [a]' be the focus smantic value of a, W the set of

possble worlds, and C the mntextual restriction on even, then C O ([a]' O {W - O[a]}).

The only value for C able to satisfy both (5i) and (5ii) is C={[a]°, W - O[a]'} ([a]°POC isn't
crucial). The reason is given in this and the next paragraph. Crucially, no member of [a] \[a]°
may be amember of C. All members of [a] \[a]° are propositions of the form that Peter caresto
degree xabout the ewironment, where x is not the minimal degree All members of [a] \[a]°



furthermore asymmetricdly entail [a]° if Peter, for example, caresto alarge degree dout the
environment, then he dso cares about the environment to the minimal degree Thus, al members
of [a] \[a]° are lesslikely than [a]° in violation of the scdar presupposition (5i) (Lahiri, 1998.

Since C must be non-trivial by (5ii), it must necessarily contain W - O[a]' (that Peter doesn’t
care abou the environment). Furthermore, this proposition must be true, again by (5ii). Thus far
the reasoning would be identicd if we had looked at the dedarative version (9) of (1). For (9) the
only allowed value for C={[a]°, W - O[a]"}. In the dedarative cae this leads to a mntradiction,
sincethe presupposition that Peter doesn’t care about the environment contradicts the assertion.
9 # Peter gives a damn about the environment.

The denotation of a yes/no-question on the other hand has two members: the proposition
expressd in the question and its negation. The presuppositions of the sister of Q are projeded to
the individual members of the question. Thus (7) denotes the set of propositions in (10), both of
which presuppose that Peter doesn’t care @out the environment and that Peter is unlikely to care
about the environment.

(a0) { that Peter cares to the minimal degree dout the environment,
(20ii) that Peter does not care to the minimal degree dout the environment}

The proposition (10i) contradicts its presupposition. It is therefore not a possble answer to
(1). Thisleares the non-contradictory (10Gii) asthe only possble axswer. This explains the
rhetoricd effed: (1) isformally a question, but it allows for only one value of C (C={[a]",

W - O[a]}) and, given this value for C, it allows only one answer, the negative answer (10i).

Example (2), with LF and partial trandation (11), is smilar. As before, the only possible val-
ue for Cis{[a]’ W - O[a]}. The denotation of (2) is ketched in (12), where (12i-iii) presup-
pose respedively that Peter, John, and Mary don’'t care aout the environment and are unlikely to
care aout it. All members of (12) are mntradictory; no context makes them true. Thus, the true
subset of (12) is empty: Nobody in Dy, cares about the environment. Thisis the reading (2) has.
(1) [Who, Q[ even[t; caesto the [minimal] degree dout the environment]]]

(12) { that Peter cares to the minimal degree dout the environment,
(12ii) that John caresto the minimal degree dout the environment,
(12iii) that Mary cares to the minimal degree dout the environment, ...}

As down above, the dedarative form of (1), (9) above, isill-formed becaise it is equivalent
to the antradictory (10i). For the negation of (9) (Peter doesn’t givea damn abou the environ
ment) | assume that even takes ope aove negation (Wilkinson, 1996, which then allows C to
take on arange of different values (Lahiri, 1998. Thereis no rhetoricd effed sincethe doice of
Cisnot forced asin (1) and (2). Other environments are similar; assgning C the value C={[a]",
W - O[a]} either leads to contradiction or is benign, because the choiceis not forced. This
acounts for the fad that the rhetoricd effed islimited to questions.

The arrent proposal extendsto (13). In (13) (2) is used as an embedded question with the
presupposition as above: That all X[ Dy, are more likdy nat to care abou the eavironment than
to care abou it. This presupposition is denied explicitly in (13); hence, (13) is degraded. No al-
ternative acount of the rhetoricd effea (Guerzoni, 2002 Han, 2002, in fad no account based
on (6), could cepture (13).

(13) #John Ixlievesthat people ae more likely to care aout the environment than not to care
about it, and he is wondering who gives a damn about the environment.

| have derived the rhetoricd effed of minimizersin questions from (8), which is
independently supported by (13).





